
6W��/RXLV�0HWURSROLWDQ�3ROLFH�'HSDUWPHQW

3DUW���&ULPH�&RPSDULVRQ�%DVHG�RQ�8&5�5HSRUWLQJ
6RXODUG

<HDUV���������	������
<HDU�7R�'DWH�,QFOXGHV�0RQWKV��-DQXDU\�WKURXJK�-XQH�

5XQ�'DWH������������5HSRUW�1R���&50�����%<


���7KHVH�FRXQWV�ZHUH�LQFOXGHG�LQ�D�SUHYLRXV�OLQH�������������������������7KHVH�HQWULHV�DUH�QRW�UHIOHFWHG�LQ�DQ\�JURXS�WRWDOV�

127(��'DWD�FROOHFWLRQ�IRU�&DUMDFNLQJV�EHJDQ�LQ�-DQXDU\�������

�����������0RQWK�RI�-XQH���������� �����������<HDU�7R�'DWH�����������
���� ���� &KDQJH ��&KJ� ���� ���� &KDQJH ��&KJ�

7RWDO�+RPLFLGH� � � � ����� � � �� ��������
+RPLFLGH � � � ����� � � �� ��������
1RQ�1HJOLJHQW�0DQVODXJKWHU � � � ����� � � � �����
��1HJOLJHQW�0DQVODXJKWHU � � � ����� � � � �����

7RWDO�5DSH � � � ����� � � � �����
)RUFHG�5DSH � � � ����� � � � �������
$WWHPSWHG�5DSH � � � ����� � � �� ��������

7RWDO�5REEHU\ � � � 1$��� �� � �� �������
+LJKZD\ � � � ����� �� � �� �������
%XVLQHVV � � � ����� � � � 1$���
0LVFHOODQHRXV � � � ����� � � � �����

�:HDSRQ � � � 1$��� � � �� �������

�1R�:HDSRQ � � � ����� � � �� �������
&DUMDFNLQJ � � � 1$��� � � �� �������

7RWDO�$JJU��$VVDXOW � � � ������� � �� �� �������
*XQ � � � 1$��� � � � 1$���
.QLIH � � � 1$��� � � � 1$���
2WKHU � � �� �������� � � � �������
+DQG�)LVW�)HHW � � � 1$��� � � � �������
��6LPSOH�$VVDXOW � � �� ������� � �� � ������

727$/�3(5621�&5,0( � � � ������� �� �� � �����

7RWDO�%XUJODU\ � � � ����� � � � �������
5HVLGHQFH���'D\ � � � ����� � � � 1$���
5HVLGHQFH���1LJKW � � � ����� � � � �����
5HVLGHQFH���7LPH�8QNQRZQ � � � ����� � � �� ��������
%XVLQHVV���'D\ � � � ����� � � � �����
%XVLQHVV���1LJKW � � � ����� � � � 1$���
%XVLQHVV���7LPH�8QNQRZQ � � � ����� � � � �����
2WKHU���'D\ � � � ����� � � � �����
2WKHU���1LJKW � � � ����� � � � �����
2WKHU���7LPH�8QNQRZQ � � � ����� � � � �����

�)RUFH � � � ����� � � � 1$���

�1R�)RUFH � � � ����� � � �� �������

�$WWHPSW � � � ����� � � � �����

7RWDO�/DUFHQ\ �� �� ��� ������� �� �� ��� �������
3LFNSRFNHW � � � ����� � � � �����
3XUVH�6QDWFK � � � ����� � � � 1$���
6KRSOLIW � � � ����� � � �� ��������
)URP�0RWRU�9HKLFOH �� � �� ������� �� �� ��� �������
0RWRU�9HKLFOH�3DUWV � � � ����� � �� � ������
%LF\FOHV � � � ����� � � � �����
)URP�%XLOGLQJV � � �� ������� �� � �� �������
)URP�&RLQ�2SHUDWHG � � � ����� � � � �����
2WKHU � � �� ������� � �� � ������

�$WWHPSW � � �� ������� �� � ��� �������

7RWDO�9HKLFOH�7KHIW � � � ������� �� �� �� ������
$XWR � � � 1$��� �� �� � ������
7UXFN�%XV � � � ����� � � � ������
0RWRUF\FOH�2WKHU � � �� �������� � � � �������

�$WWHPSW � � � ����� � � � �����

�-R\�5LGH �� � � ����� � � � �������

7RWDO�$UVRQ � � � ����� � � � �����

727$/�3523(57<�&5,0( �� �� ��� ������� ��� ��� � �����

727$/�&5,0( �� �� �� ������� ��� ��� � �����


